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QUESTION 1

A comprehensive corrective action program is initiated at a large company. Input for CARs are received from customers,
internal and external audits, material review reports and other sources. Which two of the following groups would usually
administer and control the CAR process?

. Management review team. . Quality department. . Corrective Action Board. . Material Review Board.

A. | andllonly

B. I andlllonly

C. llandlllonly

D. lllandIVonly

Correct Answer: B

QUESTION 2

What is the highest form of partnering with employees?
A. Employee involvement.

B. Task teams.

C. Cost reduction projects.

D. Stock option plans.

Correct Answer: A

QUESTION 3

Which of the following is a valid null hypothesis?

A.p>1/8

B.

C. The mean of population A is not equal to the mean of population B
D. mu =110

Correct Answer: D

QUESTION 4

A purchase order for subassemblies classified as critical must include a review by
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. Quality engineering. . The procurement department. . Design engineering.
A. lllonly

B. I andlllonly

C. llandlllonly

D. I,llandlll

Correct Answer: D

QUESTION 5

A process is turning out end items that have defects of type A or type B or both. If the probability of type A defect is 0.1
and of a type B is 0.2, the probability that an end item will have no defect is

A.0.7

B. 0.30
C.0.72
D. 0.68

Correct Answer: C
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